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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.
_Then mark the correct choice on your answer sheet.

1-  Animal welfare science is an emerging field that seeks to answer questions —---eeeueex -
by the keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be ------——--—---- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——--e-eeeee--
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other -----=-mevnv- -- issues that were not inuch of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he ------------—-- puts off doing his
assignments until the last minute.
| ) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint --—----mnmmmmv to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try to —---- - themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was -------e-ee—-—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——-eeeeeeeen , 4S8 You can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10-  New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can -—--—----—-—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
7 each space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from lewer than a billion to more than a trillion. (11) =eeemememeeeeee , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) =—==meeemeenee- and altering both their
culture and their physical environment, (13) --==-===-=---— can thus defy any formula
(14) ======eemeeeme= the matter. The number of people that Earth can support depends on
(15) ~=========————, on what we want to consume, and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capablc of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) whichi it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Tularemia is caused by the small gram-negative rod fracisella tularensis, first isolated
from rodents. Tularemia is caused by fracisella tularensis, a small gram-negative rod.
and is spread by arthropods from infected animal. It is present in rodents and in wide
variety of other wild animals in many countries in the northern hemisphere and can
occur in contaminated water. In infected animal it causes a plague -like disease and is
spread via tick. mites, lice and biting flies. In Dermacentor ticks the bacteria are
transmitted vertically by infected female ticks via the ovum. Human infection is
sporadic. The normal means of infection being contact with the carcass of an infected
animal (e.g. skinning of hares. rabbits, muskrats) or the bite of an arthropod vector.

F. tularensis parasitizes the reticuloendothelial system and live intracellulary in
macrophages, inhibiting phagosome-lysosome fusion. It spread at site of entry, aided
by antiphagocytic capsule and after 3-5 days from skin ulcer. There is a febrile illness
and lymphatic spread results in swollen painful regional lymph nodes. Blood invasion
and involvement of the lungs. gastrointestinal tract and liver is not uncommon, with
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the formation of granulomatous nodules around infected reticuloendothelial cells. The
conjunctiva or oral mucosa can be infected via contaminated fingers. resulting in
ocular or oral manifestations. Infection by inhalation is less common and gives a
febrile illness with respiratory symptoms. Clinical features of tularemia include painful
swollen lymph nodes and also is diagnosed serologically and treated with
streptomycin.

The first common route for infection with fracisella tularensis is from ——-—-—meeeeee,

1) skin 2) intestine 3) respiration 4) lymphatic system
The most hazardous animals for these bacteria are —-—--—-—--,

1) carnivores 2) wild animals 3) ruminants 4) rodents
According to the passage, which statement is true?

1) Tularemia is a contagious disease.

2) Cutaneous injuries rarely happen in infection.

3) Transmission of bacteria in ticks to off springs occurs through eggs.
4) The bacteria could only exist in dry environments.

The disease involves all following organs EXCEPT the ------eneenv- .

1) digestive system 2) lymphatic system

3) urinary system 4) respiratory systcm
Laboratory diagnosis of tularemia could be achieved through ------eeeeeee,
1) swollen lymph nodes 2) plague-like injuries

3) antibody tests 4) febrile illnesses
PASSAGE 2:

This freshwater fish disease topic provides the common name, symptoms and
treatment options for your sick freshwater fish. Before you use any medication on your
tank make sure that you have properly diagnosed the freshwater fish disease and try to
figure out why your tropical fish have the disease or problem to start. Many discases
are brought on by the fish being stressed due to transport or water quality issues. You
can use a quarantine tank for your fish that come down with a freshwater fish discase
and can avoid adding chemicals to your main tank. Always practice good fish
acclimation techniques and don't rush things.

Try to determine the underlying problem before medicating. Often times there are
water quality issues that need to be remedied and also get and use an aquarium test kit
and take the appropriate measures to correct the water in your aquarium. Whenever
you use any type of medication on your tropical fish, first remove any carbon in your
filtration system. If left in, the carbon will remove the medication from the water,
doing you no good. To sum up, first determine the cause of the freshwater fish disease,
fix any obvious problem(s). figure out which disease your fish has by closely
observing the symptoms and then treat only if necessary.

In freshwater fish diseases prior to treatment you should initially ------- 2
1) check the water quality 2) look for the cause of disease
3) consider transportation 4) eliminate any stress

The issue “Acclimation techniques™ for freshwater fish refers to -——--veeeeee- :
1) preserving the fish 2) collecting the fish

3) cleansing methods 4) adaptation to the environment
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The principal and initial items to find the underlying problems are —-—--—-eeeeee,
1) sanitizing the aquarium 2) quality and quantity of water
3) using filtration system 4) the size of aquarium

What is the last proceeding for resolving the problem?

1) Observing the symptoms 2) Diagnosis of the disease

3) Treatment with medications 4) Fixing any problems

Which of the following titles best shows the objective of the passage?

1) Fresh Water Fish Care 2) Fish Disease

3) Quarantine Tank Specification 4) Medicating Fresh Water Fish
PASSAGE 3:

A biosensor is an analytical device which converts a biological response into an
electrical signal. The term'biosensor’ is often used to cover sensor devices used in
order to determine the concentration of substances and other parameters of biological
interest even where they do not utilize a biological system directly. Biosensors
function by coupling a biological sensing element with a detector system using a
transducer. The scientifically proposed initiated by electrochemical sensors as well as
commercialized biosensors for multiple analytes. The following statement is also
defined for the biosensor, “A chemical sensing device in which a biologically derived
recognition is coupled to a transducer, to allow the quantitative development of some
complex biochemical parameter.™

The advantages of biosensors include low cost, small size, quick and easy use, as well
as a sensitivity and selectivity greater than the current instruments. Biosensors have
many uses in clinical analysis, general hedlth care monitoring. The most popular
example is glucose oxidase-based sensor used by individuals suffering from diabetes
to monitor glucose levels in blood. Biosénsors have found potential applications in the
industrial processing and meonitoring, environmental pollution control. also in
agricultural and food industries. The introduction of suitable biosensors would have
considerable impact in appropriatc areas.

Which item was the first scientific proposed biosensor(s) for different analytes?
1) Electrochemical and commercialized biosensors

2) Commercialized biosensors

3) Physicochemical biosensors

4) Electrochemical biosensors

The term “analytes” refers to which of the following definitions.

1) All elements or parameters that are being analyzed

2) The action of analysis

3) Only elements that would be analyzed

4) Only parameters that are being analyzed

From the first paragraph, which of the following statements could be implied?
'Biosensors' are being used for determination of --——-memeev,

1) The amount of biochemical parameters

2) The quality of biochemical parameters

3) Both quantity and quality of biochemical parameters

4) Only commercial parameters
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29-  According to the text, which statement is true?
1) Each biosensor should be used in its own field
2) All biosensors could be used in different fields
3) All biosensors are useful in medicine
4) Different sciences could use biosensors
30-  Which of the following titles is more suitable for this passage?

1) Biosensors 2) Application of biosensors in medicine
3) Suitable biosensors 4) Electrochemical sensors
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